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Write the equation of the parabola that passes through
-4, 3), (5, -6) and (-3, -14 (8
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Warm Up: Sketch the graph of
erteX  — f(x)=(x=1)" -4
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Write the function in standard form and
factor. What key features of the graph do
you see in this form?
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3 Formes:
Vertex Form: f(x) —@x h ‘+k

I (n k\

Standard Eérm:  f(x) @62 +bx+c

4m,0 +Uct//\; - <O,Q>

Factored Form: (X x — p)(x— Q)

(p,0) (2.0)
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Write the equation of the parabola that has a
maximum of (5,8) and has a y-intercept of
0,-4.5)
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Ex#3: Write the equation of a quadratic function in standard form
that has x-intercepts at (§ O) and (-5, 0) aJLcl ( O, le;
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Write the equation of the parabetawith x-intercepts at (-3, 0) and (2,0)
that passes through the poin

(0= a(xv3)(»-1)
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